Please answer the following Matrix Word Problem, and number 10, 22, and 30.  Please show all your work in steps.

When two kittens named Cauchy and Cliché were introduced into a household with Jamie (an older cat) and Musk (a dog), the interactions between animals were complicated. The two kittens liked each other and Jamie, but didn’t like Musk. Musk liked everybody, but Jamie didn’t like any of the other animals.

a. Write a matrix in which rows (and columns) 1, 2, 3, and 4 refer to Musk, Jamie, Cauchy, and Cliché. Make an element a 1 if the animal for that row likes the animal for that column, and otherwise make the element a 0.  Assume every animal likes herself.

b.Within a few days, Cauchy and Cliché decided that they liked Musk after all. Write a matrix, as you did in part a, representing the new situation.
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